Modeling Rolling Cups
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Here is a reminder of the data you saw in the video with a few extra cups added.

1. Describe how each of the three lengths on the picture affect the roll radius.
Show how you used the data to explain your ideas.
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2. Show how you can use math to predict the radius of the circle rolled by any size of cup.
Show all your reasoning, including any diagrams and calculations.
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Modeling Rolling Cups
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Here is a reminder of the data you saw in the video with a few extra cups added.

1 Describe how each of the three lengths on the picture affect the roll radius.

Show how you used the data to explain your ideas.

math to predict the radius of the circle rolled by any size of cup.

2. Show how you can use
including any diagrams and calculations.

Show all your reasoning,
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What values for the narrow diameter and wide diameter do you think Heather should choose next?
Justify your answer.
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Heather has described some patterns in the data. &C L’w eve Yt  Corved €y ved e,

Find and describe a new pattern in the data.
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Use Gerry's method to find the roll radius of this cup:

Wide diameter =,b3" Narrow diameter = 1" Slant length = 3"
—
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Gerry says he can u e his method to find the roll radius of any cup.
Is this correct? \
Explain your answer. ' /-’
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What could Gerry do to lmprove his solution?
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Judi draws a triangle diagram.

Explain how this represents a cup.
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Judi has made a mistake in her formula.
Find and correct the mistake.
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Now find a formula for R, the roll radius.
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Modeling Rolling Cups
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Here is a reminder of the data you saw in the video with a few extra cups added. | ©.5
w3 7Y
. Describe how each of the three lengths on the picture affect the roll radius. S ) 5
Show how you used the data to explain your ideas. 22, L&
3 3 5,.(.\.. &
2. Show how you can use math to predict the radius of the circle rolled by any size of cupj C{ o B 4 ’C
Show all your reasoning, including any diagrams and calculations. -
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Modeling Rolling Cups
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Here is a reminder of the data you saw in the video with a few exira cups added.

1. Describe how each of the three lengths on the picture affect the roll radius.
Show how you used the data to explain your ideas.

2. Show how you can use math to predict the radius of the circle rolled by any size of cup.
Show all your reasoning, including any diagrams and calculations.
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What valyes for the narrow diameter and wide diameter do you think Heather should choose next?

Justify your answer.
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| Heather has described some patterns in the data.

Find and describe a new pattern in the data.
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What are the strengths of Heather’s solution?
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What would you do to improve Heather's solution?

Explain your answer.
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Use Gerry's method to find the roll radius of this cup:

Wide diameter = 3" Narrow diameter = 1" Slant length = 3"

Gerry says he can use his method to find the roll radius of any cup.

Is this correct?
Explain your answer.
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What are the strengths of Gerry’s approach?
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What could Gerry do to improve his solution?
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Judi $3YS Triangle ACE and Triangle BCD are similar.
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Judi draws a triangle diagram.

Explain how this represents a cup.
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Judi has made a mistake in her formula.

Find and correct the mistake.

Student material Modeling Motion: Rolling Cups S-7
o mAterEs © 2015 MARS, Shell Center, University of Nottingham



Cup

Modeling Rolling Cups

Dimensions in inches
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Here is a reminder of the data you saw in the video with a few extra cups added.
1. Describe how each of the three lengths on the picture affect the roll radius.
Show how you used the data to explain your ideas. | ,
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Show all your reasoning, including any diagrams and calculations. ,
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Modeling Rolling Cups e

Wide Diameter —
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Cup Dimensions in inches .
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radius
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Here is a reminder of the data you saw in the video with a few extra cups added.

1. Describe how each of the three lengths on the picture affect the roll radius.
Show how you used the data to explain your ideas.
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What values for the narrow diameter and wide diameter do you think Heather should choose next?

a Justify your answer.
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Heather has described some patterns in the data.

Find and describe a new pattern in the data.
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What are the strengths of Heather’s solution?
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What would you do to improve Heather's solution?

Explain your answer.
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Use Gerry's method to find the roll radius of this cup:

Wide diameter = 3" Narrow diameter = 1" Slant length = 3"

Gerry says he can use his method to find the roll radius of any cup.
Is this correct?
Explain your answer.
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What are the strengths of Gerry’s approach?

What could Gerry do to improve his solution?
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Judi says Triangle ACE and Triangle BCD are similar.
Is Judi correct?

Explain your answer.

.....:I..he.....:\.ﬂ&(%\ﬁs__'dIQ.......S;LKm.lﬁ..@.m-,.k.}%,...;.\dem.ﬂﬂ@\e‘--~

-OO‘”.”’."..'.’.‘# -

—— e esse ..."-.m.. P g IO o ..“.“’M......‘..“m”.’.m
—— - b - owmeraewww SO 8O FAPBABBORION covese sveswensss s Setes

“OQC.”.OO...
>=w one “O....’...'.-.“..“
oo o...'m.o...‘......‘o..'..o‘.‘n’oooo“.o"
-~
- 00-..” “"‘”.-

ey WW eceow o ..o—...m._v - .oo-...mm
mwm m..o“.—o..o. oeoew ..m.‘-amo...u SO ——-— -
L P ——
s s e e e S e e R eoan POeCeePrBwes .-000--.“00“0’““
—— - aew MW
aw e e oo Senerees e - ——_ - praspee S it -.Mms-.v._
- ....M
S S S ”MMWMM Jp—— prmmpea—— =
M MMDM
M‘ MMM.MW -
L

Judi draws a triangle diagram.

Explain how this represents a cup. |
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Judi has made a mistake in her formula.

Find and correct the mistake.
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Now find a formula for R, the roll radius.
Q - W XS ) e —————————
w-N
Student materials Modeling Motion: Rolling Cups S-7

© 2015 MARS, Shell Center, University of Nottingham



Modeling Rolling Cups
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1. Describe how each of the three lengths on the picture affect the roll radius.
Show how you used the data to explain your ideas.

2. Show how you can use math to predict the radius of the circle rolled by any size of cup.
Show all your reasoning, including any diagrams and calculations.
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Y, Modeling Rolling Cups
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Show how you used the data to explain your ideas- <
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2. Show how you can use math to predict the radius of the circle rolled by any size of cup. ( S\ m/\\,
Show all your reasoning, including any diagrams and calculations. ,\,0\\ € .
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Heather has described some patterns in the dgfa.
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What would you do to Improve Heather’s solution?
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Use Gerry's method t0 find the roll ra

Wide diameter = 3"

dius of this cup:

Narrow diameter = 1°

. q.SU

sjant length = ’

Gerry says he can use his met

Is this correct?

hod to find the roll radius of any cup.
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What are the strengths of Gerry's approach?
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What could Gerry dp to improve his solution?
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Judi draws a triangle diagram.

Explain how this represents a cup
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Judi has made a mistake in her formula.

Find and correct the \ilstake
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Now find a formula for R, the roll radius.
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